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Programmable calculators are not allowed. Doxnot write anytfilng on the question paper.

Answer all 6 (six) questions. Figures in the right margin indicate full marks of questions with
corresponding COs and Pos in parentheses.

a) Define L-attributed definitions.1. 3
(C03)
(POI)

12
(C03)
(POI)

10
(C02)
(POI)

b) Explain the evaluation process of L-attributed definitions.

c) Draw a block diagram of an LR parser and describe different parts of it.

2. a) Discuss on two different implementation techniques for three-address statements. 11

(C05)
(POI)

7+ 7
(C05)
(POI)

b) Design an SDD to generate three-address codes for the following statements:

S + repeat S until E
S + while E do S

3. a) Transition diagram of LR(1) items-for a grammar is given in Figure 1. Construct the LALR
parse table for the grammar.
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(C02)
(POI)
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Figure 1: LR(1) items with transition steps for a grammar.
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b) Show that the grammar S a OSI [ SS 1 e is ambiguous

c) Explain how a syntax tree differs from a pclrse free

5
(C02)
(POI)

5
(C02)
(PDI)

12
(C03)
(PDI)

13
(C02)
(P02)

4. a) Discuss on tYpe checking for expressions, state men B, and functIons

b) The R)11(.)wing grammar abstracts the dangling-else problem:

s –, iE fS 1 iEt SeS \ a
E –+ b

5. a) Define acti„,ti,n r„.rd .fa R,n,ti„n. Di„„,s 'n th' contents of an activatiQr1 record

b ) E )!b1) 1 a i 1] ]] ow t1 e a r) a1 1 () c a t i () [1 strategy brac a vat ion record wo jse Discuss its a ( Lvantage s
over other strategres.

6. a) Write , „mp1,t, „t of ,.d,s in L,x ,nd Y,c, t' Uanslae postflx expressions into inflx ex
presslons.

b) Explain how Lex and Yacc modules exchange data while working together

3+8
(C04)
(POI)

10 + 4
(C04)
(POI)

5 + 12
(C03)
(POD
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(C03)
(POI)
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